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1. (HEE 6,710,000 6,670,000 -40,000 99.4%|ResF4 A1 B B %754
(2)EETLtS 0 0 0 0%| M TI<BRE4ER %
(3)AmFELER 0 0 0 0.0%| =R 415 BRFE e E
(4) ZEF R 150 1,725 1,575 1150.0%
(5) FURZE 1,000 0 -1,000 0.0%|BTEY—ILEHE
LHEARA &5 (A) 6,711,150| 6,671,725 -39,425 99.4%
2. BiEEmMEZE (B) 0 0 0 -
LHEMiEAS(C) 0 0 0 -
AR P m 4R EN%E (D) 0 0 0 -
St E[R{f (B)+(C)-(D)=(E) 0 0 0 -
3. SELIAFEEEE(A) — (BE)=(F) 6,711,150| 6,671,725 -39,425 99.4%
4. FEERV—KREERE
(M AGE 3,000,000, 1,520,000 -1,480,000 50.7%
(2)EfEH 1,500,000 0| -1,500,000 0.0% | R %1%
(IEHBEEE 1,160,000 360,590 -799,410 31.1%
DEHE BBV IMRSFHHR—MED 50,000 54,560 4560  109.1%
LEEGETH. BAR ERD) 150,000 95,280 -54,720 63.5%
QENRIEAE 50,000 0 -50,000 0.0%
@REEE (BMER. ERERE) 150,000 24,570 -125,430 16.4%
OREXBE (XBE. HEE) 600,000 20,976 -579,024 3.5%|BREE~DHEREST
@SNE(BFE. SRES) 100,000 43,245 -56,755 43.2%
DX LF 0 (A F 5 40,000 13,805 -26,195 34.5%
@REIELE (HEHRIEHF) 10,000 8,154 -1,846 81.5%
OX tLRENE 0 100,000 100,0000 — [Hh#HEE
O3 & (BEaeH. EERE) 10,000 0 -10,000 0.0%
(M) BXEEE 1,200,000 308,222 -891,778 25.7%
ORTEER 200,000 60,000 -140,000 30.0%| B REBERENS
@QY—ILIER-REE 150,000 59,400 -90,600 39.6%|BRY—ILERERS
QIERRIEFLRE 50,000 7,260 -42,740 14.5%|HPER B R HE A
@t EEE A 100,000 0 -100,000 0.0%|LPaakis s & sugkat EH 1t
OMRRARE 500,000 181,562 -318,438 36.3% [=urummTa R, BEERRS
®FiHEE 200,000 0|  -200,000 0.0%
LEAZ HET (1) ~ (5) =(G) 6,860,000 2,188,812| -4,671,188 31.9%
5. BERUNZZEZE(F) —(G)=(H) -148,850| 4,482913|  4,631,763| —-3011.7%
6. RIEARRHE (1) 18,415,305 18,415,305 0| 100.0%
7. REAREHINZ EZZE(H) +(OD) 18,266,455 22898218 4,631,763 125.4%
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